

ASYMPTOTIC BEHAVIOUR OF SOLUTIONS OF A NONLINEAR DIFFERENCE EQUATION WITH A CONTINUOUS ARGUMENT

АСИМПТОТИЧНА ПОВЕДІНКА РОЗВ'ЯЗКІВ НЕЛІНІЙНОГО РІЗНИЦЕВОГО РІВНЯННЯ З НЕПЕРЕРВНИМ АРГУМЕНТОМ

We consider the difference equation with continuous argument

$$x(t+2) - 2\lambda x(t+1) + \lambda^2 x(t) = f(t, x(t)),$$

where $\lambda > 0$, $t \in [0, \infty)$, and $f: [0, \infty) \times \mathbf{R} \rightarrow \mathbf{R}$. Conditions for the existence and uniqueness of continuous asymptotically periodic solutions of this equation are given. We also prove the following result:

Let $x(t)$ be a real continuous function such that

$$\lim_{t \rightarrow \infty} (x(t+2) - (1-\alpha)x(t+1) - \alpha x(t)) = 0$$

for some $\alpha \in \mathbf{R}$.

Then the boundedness of $x(t)$ always implies

$$\lim_{t \rightarrow \infty} (x(t+1) - x(t)) = 0$$

if and only of $\alpha \in \mathbf{R} \setminus \{1\}$.

Розглянуто різницеве рівняння з неперервним аргументом

$$x(t+2) - 2\lambda x(t+1) + \lambda^2 x(t) = f(t, x(t)),$$

де $\lambda > 0$, $t \in [0, \infty)$ та $f: [0, \infty) \times \mathbf{R} \rightarrow \mathbf{R}$. Наведено умови існування та єдиності неперервних асимптотично періодичних розв'язків даного рівняння. Доведено також наступне твердження:

Нехай $x(t)$ — дійсна неперервна функція така, що

$$\lim_{t \rightarrow \infty} (x(t+2) - (1-\alpha)x(t+1) - \alpha x(t)) = 0$$

для деякого $\alpha \in \mathbf{R}$.

У цьому випадку з обмеженості $x(t)$ завжди випливає, що

$$\lim_{t \rightarrow \infty} (x(t+1) - x(t)) = 0$$

тоді і тільки тоді, коли $\alpha \in \mathbf{R} \setminus \{1\}$.

1. Introduction. In [1], G. P. Pelyukh investigated the problem of existence and uniqueness of continuous asymptotically periodic solutions of the following nonlinear difference equation with a continuous argument:

$$x(t+1) = x(t) + f(t, x(t)), \quad (1)$$

where $f: [0, \infty) \times \mathbf{R} \rightarrow \mathbf{R}$ is a continuous function such that

(a) $f(t, 0) \equiv 0$, $|f(t, x) - f(t, y)| \leq \phi(t)|x - y|$, $x, y \in \mathbf{R}$, where $\phi(t)$ is nonnegative on $[0, \infty)$,

(b) $\Phi(t) = \sum_{i=0}^{\infty} \phi(t+i)$ is a uniformly convergent series on $[0, \infty)$ such that $\Phi(t) \leq \theta < 1$.

It is natural to investigate the same problem for the difference equation

$$\Delta^2 x(t) = f(t, x(t)), \quad (2)$$

where $\Delta x(t) = x(t+1) - x(t)$.

In Section 2, we consider the problem of the existence and uniqueness of continuous solution of Eq. (2) for $t \geq 0$, which satisfies the condition

$$\lim_{t \rightarrow \infty} (x(t) - \omega(t)) = 0, \quad (3)$$

where $\omega(t)$ is a continuous function periodic with period one. We assume that the function f satisfies (a) and the following condition:

(b)₁ $\Phi_1(t) = \sum_{i=0}^{\infty} (i+1)\phi(t+i)$ is a uniformly convergent series on $[0, \infty)$ such that $\Phi_1(t) \leq \theta < 1$.

Note that, from condition (a), we have

$$|f(t, x(t))| = |f(t, x(t)) - f(t, 0)| \leq \phi(t)|x(t)|.$$

Since it follows from (b) that $\phi(t) \rightarrow 0$ as $t \rightarrow \infty$, we obtain that $|f(t, x(t))| = o(x(t))$ as $t \rightarrow \infty$.

It is easy to see that if $x(t)$ is a continuous solution for the problem (2), (3), then

$$x(t+1) - x(t) = - \sum_{i=0}^{\infty} f(t+i, x(t+i))$$

and, consequently,

$$x(t) = \omega(t) + \sum_{i=0}^{\infty} (i+1)f(t+i, x(t+i)). \quad (4)$$

The convergence of the last sum follows from the boundedness of $x(t)$ and from conditions (a) and (b)₁. Conversely, if $x(t)$ is a bounded and continuous solution of Eq. (4) on $[0, \infty)$, then it is a solution of the problem (2), (3).

In Section 3, we give conditions under which every solution of a difference equation satisfies the condition

$$\lim_{t \rightarrow \infty} (x(t+1) - x(t)) = 0.$$

2. Existence and uniqueness results. In this section, we prove the following result on the existence and uniqueness of solution of Eq. (4). In the proof of the result, we follow the lines of the proof of Theorem 1 in [1].

Theorem 1. *Assume that conditions (a) and (b)₁ are satisfied. Then Eq. (4) has one and only one continuous and bounded solution on $[0, \infty)$.*

Proof. Let $x_0(t) = \omega(t)$ and

$$x_n(t) = \omega(t) + \sum_{i=0}^{\infty} (i+1)f(t+i, x_{n-1}(t+i)), \quad n = 1, 2, \dots \quad (5)$$

For every $n \geq 1$ and $t \in [0, \infty)$, we show that

$$|x_n(t) - x_{n-1}(t)| \leq M\theta^n, \quad (6)$$

where $M = \max_{t \in [0, 1]} |\omega(t)|$. We have

$$|x_1(t) - x_0(t)| \leq \sum_{i=0}^{\infty} (i+1)|f(t+i, x_0(t+i))| =$$

$$\begin{aligned}
&= \sum_{i=0}^{\infty} (i+1) |f(t+i, x_0(t)) - f(t+i, 0)| = \\
&= \sum_{i=0}^{\infty} (i+1) \phi(t+i) |x_0(t)| = \Phi_1(t) |x_0(t)| \leq M\theta.
\end{aligned}$$

Suppose that we have already proved (6) for some $m \in \mathbb{N}$. Then

$$\begin{aligned}
|x_{m+1}(t) - x_m(t)| &\leq \sum_{i=0}^{\infty} (i+1) |f(t+i, x_m(t+i)) - f(t+i, x_{m-1}(t+i))| = \\
&= \sum_{i=0}^{\infty} (i+1) \phi(t+i) |x_m(t+i) - x_{m-1}(t+i)| \leq \\
&\leq M\theta^m \Phi_1(t) \leq M\theta^{m+1}.
\end{aligned}$$

Hence, (6) follows by induction. From (6) we have

$$|x_n(t)| \leq M(1 + \theta + \dots + \theta^n) < \frac{M}{1 - \theta}.$$

Thus, the sequence $x_n(t)$ uniformly converges to a bounded continuous function $x(t)$. Letting $n \rightarrow \infty$ in (5), we obtain that $x(t)$ is a solution of Eq. (4).

We now prove that this solution is unique. Let $y(t)$ be another bounded continuous solution of (4). Then the function $x(t) - y(t)$ is bounded and continuous on $[0, \infty)$. By conditions (a) and (b)₁, we have

$$\begin{aligned}
|x(t) - y(t)| &= \sum_{i=0}^{\infty} (i+1) |f(t+i, x(t+i)) - f(t+i, y(t+i))| \leq \\
&\leq \sum_{i=0}^{\infty} (i+1) \phi(t+i) |x(t+i) - y(t+i)| \leq \\
&\leq \Phi_1(t) \|x(t) - y(t)\|_{C[0, \infty)} \leq \theta \|x(t) - y(t)\|_{C[0, \infty)}
\end{aligned}$$

and, consequently,

$$\|x(t) - y(t)\|_{C[0, \infty)} \leq \theta \|x(t) - y(t)\|_{C[0, \infty)},$$

whence the required result follows.

Similarly we can prove the following theorem:

Theorem 2. Consider the difference equation

$$\Delta^n x(t) = f(t, x(t)). \quad (7)$$

Assume that condition (a) and the following condition are satisfied:

(b)₂ $\Phi_n(t) = \sum_{i=0}^{\infty} (i+1)^{n-1} \phi(t+i)$ is a uniformly convergent series on $[0, \infty)$ such that $\Phi_1(t) \leq \theta < 1$.

Then Eq. (7) has one and only one continuous solution on $[0, \infty)$ which satisfies (3).

Using the change $x(t) = \lambda^t y(t)$, we obtain the corollary.

Corollary 1. Consider the difference equation

$$\Delta_\lambda^n x(t) = f(t, x(t)), \quad (8)$$

where $\lambda > 0$, $\Delta_\lambda x(t) = x(t+1) - \lambda x(t)$. Assume that the function

$$f_1(t, y) = \lambda^{-(t+n)} f(t, \lambda^t y)$$

satisfies conditions (a) and (b)₂.

Then Eq. (8) has one and only one continuous solution $x(t)$ on $[0, \infty)$ such that

$$\lim_{t \rightarrow \infty} (\lambda^{-t} x(t) - \omega(t)) = 0.$$

3. Variation of solutions. By Theorem 1, we have found a solution of problem (2), (3). It is clear that the solution satisfies

$$\lim_{t \rightarrow \infty} (x(t+1) - x(t)) = 0. \quad (9)$$

On the other hand, we see that every bounded continuous solution of Eq. (2) satisfies

$$\lim_{t \rightarrow \infty} \Delta^2 x(t) = 0 \quad (10)$$

if (a) and (b)₁ are satisfied.

The following natural question arises: Is property (9) characteristic only for the solution of problem (2), (3)? The answer is negative. Moreover, difference equation which satisfy (10) have the property that every bounded solution of these ones satisfy (9).

We consider a somewhat generalized version of Eq. (2), namely, we consider second order nonhomogeneous difference equations with constant coefficients such that the sum of the coefficients of the corresponding homogeneous difference equations are equal to zero. There are many papers concerning discrete difference equations of this type. These equations appear in a large class of Mathematical Biology models, for example: Discrete delay logistic difference equation [2, 3], Generalized Beddington – Holt stock recruitment model [4–7], Mosquito population equations [8], Perennial grass model [5, 9], Flour beetle population model [10, 11] (see also [12]). The following result is the main in this section:

Theorem 3. Let $x(t)$ be a real continuous function such that

$$\lim_{t \rightarrow \infty} (x(t+2) - (1-\alpha)x(t+1) - \alpha x(t)) = 0 \quad (11)$$

for some $\alpha \in \mathbf{R}$.

Then the boundedness of $x(t)$ always implies

$$\lim_{t \rightarrow \infty} (x(t+1) - x(t)) = 0$$

if and only if $\alpha \in \mathbf{R} \setminus \{1\}$.

For the proof of Theorem 3, we need an auxiliary result which is contained in the lemma which follows.

Lemma 1. Let $x(t)$ be a bounded continuous complex-valued function such that

$$\lim_{t \rightarrow \infty} (x(t+1) + \alpha x(t)) = 0.$$

Then the following statements are true:

(a) if $\alpha \in \mathbf{C} \setminus \{z \mid |z| = 1\}$, then $x(t) \rightarrow 0$ as $t \rightarrow +\infty$;

(b) for each α , $|\alpha| = 1$, $x(t)$ need not be convergent as $t \rightarrow +\infty$.

Proof. a) Suppose that $|\alpha| < 1$. Let $b(t) = x(t+1) + \alpha x(t)$, $n \in \mathbf{N}$. By standard procedure, we obtain

$$x(t) = (-\alpha)^{[t]} x(\{t\}) + \sum_{k=0}^{[t]-1} b(\{t\}+k)(-\alpha)^{[t]-(k+1)}, \quad (12)$$

where $\{t\}$ is so-called rational part of number t , that is $\{t\} = t - [t]$, where $[t]$ is the integer part of t .

Since $\lim_{t \rightarrow +\infty} b(t) = 0$ and $|\alpha| < 1$, it is easy to prove that the sum

$$\sum_{k=0}^{n-1} b(\{t\}+k)(-\alpha)^{[t]-(k+1)}$$

tends to zero as $t \rightarrow +\infty$. It follows from (12) that $\lim_{t \rightarrow +\infty} x(t) = 0$.

Let $|\alpha| > 1$. Since $x(t)$ is bounded, there exists $M > 0$ such that $|x(t)| \leq M$ for each $t \in [0, \infty)$. Hence,

$$\left| x(\{t\}) + \sum_{k=0}^{[t]-1} \frac{b(\{t\}+k)}{(-\alpha)^{k+1}} \right| \leq \frac{M}{|\alpha|^{[t]}}, \quad \text{for all } t \in [0, \infty). \quad (13)$$

Replacing t in (13) by $t_n = n + t_0$, $n \in \mathbf{N}$, where t_0 is a fixed number in $[0, 1)$, and then letting $n \rightarrow \infty$, we obtain

$$x(t_0) = - \sum_{k=0}^{+\infty} \frac{b(t_0+k)}{(-\alpha)^{k+1}}. \quad (14)$$

Taking $\{t\} = t_0$ and then substituting (14) in (12), we obtain

$$x(t) = - \frac{1}{\alpha} \sum_{k=[t]}^{+\infty} \frac{b(\{t\}+k)}{(-\alpha)^{k-[t]}}.$$

Since $\lim_{t \rightarrow +\infty} b(t) = 0$ and $|\alpha| > 1$, we obtain

$$\lim_{t \rightarrow +\infty} \sum_{k=[t]}^{+\infty} \frac{b(\{t\}+k)}{(-\alpha)^{k-[t]}}$$

whence the required result follows.

b) If $|\alpha| = 1$, i.e., $\alpha = e^{i\theta}$, $\theta \in [-\pi, \pi]$, then the function $x(t) = e^{it(\theta - \pi/2)}$ is bounded and satisfies the condition $x(t+1) + \alpha x(t) = 0$, $t \in [0, \infty)$, and the limit $\lim_{t \rightarrow \infty} x(t)$ does not exist.

Remark. The last example shows that $x(t)$ in Lemma 1 need not be convergent.

Proof of Theorem 3. The case $\alpha = 0$ is trivial. Suppose $\alpha \notin \{-1, 0, 1\}$. Put $b(t) = x(t+1) - x(t)$. Then, from (11) it follows that $b(t+1) + \alpha b(t) \rightarrow 0$ as $t \rightarrow \infty$. The boundedness of $x(t)$ implies the boundedness of $b(t)$. Since $\alpha \notin \{-1, 1\}$, by Lemma 1 we obtain $b(t) \rightarrow 0$ as $t \rightarrow \infty$, as desired.

Let $\alpha = -1$. Hence,

$$\lim_{t \rightarrow \infty} (x(t+2) - 2x(t+1) + x(t)) = 0.$$

Now assume that

$$\limsup_{t \rightarrow \infty} (x(t+1) - x(t)) = a > 0.$$

Hence, for every $\varepsilon \in (0, a)$, there exists $t_0 > 0$ such that

$$x(t_0+1) - x(t_0) > a - \varepsilon \quad (15)$$

and

$$x(t+2) - x(t+1) - (x(t+1) - x(t)) > -\varepsilon \quad \text{for } t \geq t_0. \quad (16)$$

For a fixed $k_0 \in \mathbb{N}$, we choose $\varepsilon = a/2(k_0 + 1)$ and, for such ε , find $t_0 = t_0(\varepsilon)$ such that (15) and (16) hold. Then we have

$$x(t_0 + k + 1) - x(t_0 + k) > a - (k+1)\varepsilon = a - \frac{k+1}{2(k_0+1)}a \geq \frac{a}{2}$$

for every $k \in \{1, 2, \dots, k_0\}$. Hence,

$$x(t_0 + k_0 + 1) > x(t_0 + 1) + k_0 \frac{a}{2},$$

which contradicts the boundedness of $x(t)$.

The assumption

$$\liminf_{t \rightarrow \infty} (x(t+1) - x(t)) = a < 0$$

leads to a contradiction by a similar argument.

Let $\alpha = 1$. Then the function $x(t) = \sin \pi t$ is bounded, $x(t+2) - x(t) = 0$, and the limit

$$\lim_{t \rightarrow \infty} (x(t+1) - x(t))$$

does not exist.

1. Pelyukh G. P. Asymptotic behavior of solutions of nonlinear difference equations with a continuous argument // Ukr. Mat. Zh. – 2002. – 54, № 1. – P. 138 – 141 (in Russian).
2. Kuruklis S. A., Ladas G. Oscillations and global attractivity in a discrete delay logistic model // Quart. Appl. Math. – 1992. – 50, № 2. – P. 227 – 233.
3. Pielou E. C. An introduction to mathematical ecology. – Wiley-Interscience, 1969.
4. Beddington R. J., Holt S. J. On the dynamics of exploited fish populations // Fish Invest. London. – 1957. – 19. – P. 1 – 53.
5. De Vault R. C., Dial G., Kocic V. L., Ladas G. Global behaviour of solution of $x_{n+1} = ax_n + f(x_n, x_{n-1})$ // J. Different. Equat. and Appl. – 1998. – 4. – P. 311 – 330.
6. Fisher M. E., Goh B. S. Stability results for delayed - recruitment models in population dynamics // J. Math. Biology. – 1984. – 19. – P. 147 – 156.
7. Stević S. Behaviour of the positive solutions of the generalized Beddington – Holt equation // Panamer. Math. J. – 2000. – 10, № 14. – P. 77 – 85.
8. Grove E. A., Kent C. M., Ladas G., Valicenti S. Global stability in some population models. // Proc. Fourth Int. Conf. Different. Equat. and Appl. (August 27-31, 1999, Poznan, Poland). – Gordon and Breach Sci. Publ., 2000. – P. 149 – 176.
9. De Vault R. C., Grove E. A., Ladas G., Levins R., Puccia C. Oscillations and stability in a delay model of perennial grass // J. Different. Equat. and Appl. – 1995. – 1. – P. 173 – 185.
10. Cushing J. M., Kuang Y. Global stability in a nonlinear difference delay equation model of flour beetle population growth // Ibid. – 1996. – 2. – P. 31 – 37.
11. Sedaghat H. Geometric stability conditions for higher order difference equations // J. Math. Anal. and Appl. – 1998. – 224. – P. 255 – 272.
12. Stević S. A note on the recursive sequence $x_{n+1} = p_k x_n + p_{k-1} x_{n-1} + \dots + p_1 x_{n-k+1}$ // Ukr. Mat. Zh. – 2003. – 55, № 4. – P. 570 – 574 (in Russian).

Received 01.04.2003